GX 550 & LC 250 Rear MOLLE System Install

Included Hardware (Molle Panels + Upper Shelf): 6x M6 x 40mm Hex Head
Bolt | 10x 1/4" Washer | 12x 1/4"-20 x 1/2" Button Head Bolt | 18x 1/4"-20
Serr. Flange Nuts | 2x 1/4"-20 x 3/4" Button Head Bolt | 4x 1/4"-20 x 1" Hex
Head Bolt | 2x 1/2" OD Spacer | 4x VHB Adhesive

Process Ref. No: 744
Revision: 1.001 Revision date: 01/11/2024

Date: 26/07/2024
Page 1 of 12

Feedback?

Oy S |0
g g

%

Included Part(s) (Molle Panels + Upper Shelf): 1x Upper Shelf | 1x Shelf
Front Panel | 2x Upper Self Bracket | 2x Molle Panel | 2x Molle Panel
Upper Rear Bracket | 2x Molle Panel Upper Front Bracket | 2x Molle Panel
Lower Rear Bracket | 2x Molle Panel Lower Front Bracket | 2x Stainless
Logo Plate

CYCLE TIME: N/A
Author: Colin G



https://gembadocsapp.page.link/Zku8oEeDJjYuC1ci8

Feedback?

D
T
A

¥~ GX 550 & LC 250 Rear MOLLE System Install

B ¢

..................
-----------

Start by removing the plastic cover, below the rear window, with a pry tool or a Next, you need to remove the grab handles from each side of the vehicle. Pop
flat head screw driver. Once removed, use a 10mm socket to remove the hex off the plastic covers and remove the (2) factory hex bolts using a 10mm
bolt. Be sure to hold onto this for later use. socket. Repeat this on each side of the vehicle.

Process Ref. No: 744 Date: 26/07/2024 CYCLE TIME: N/A
Revision: 1.001 Revision date: 01/11/2024 Page 2 of 12 Author: Colin G



https://gembadocsapp.page.link/Zku8oEeDJjYuC1ci8

(o “=x7=
G >

Take the provided lower bracket and bolt it into place in the orientation shown
above, using the provided long m6 bolt and spacer behind the bracket. Leave

this loose for now so you can have adjustment if needed.

Process Ref. No: 744
Revision: 1.001 Revision date: 01/11/2024

GX 550 & LC 250 Rear MOLLE System Install

Feedback?

Now take the

(2) provided upper brackets and bolt them into the factory holes
that held the handle into place, using the provided longer hex heads with a
washer. The handles can be installed over the brackets or left off. if leaving
the handles off, the factory hardware can be reused. install as shown in the
orientation above. Leave this loose for now for adjustment.

CYCLE TIME: N/A
Author: Colin G

Date: 26/07/2024
Page 3 of 12



https://gembadocsapp.page.link/Zku8oEeDJjYuC1ci8

Ocz =y GX 550 & LC 250 Rear MOLLE System Install

; . L i i 4
With your brackets loosely bolted into place, bolt your molle panel to the lower Next, take the provided 1/4" hex heads with a washer and flange nut and bolt
bracket using the provided 1/4" button heads and a flange nuts. them to the top back bracket as shown above using a 7/16" wrench.

Process Ref. No: 744 Date: 26/07/2024 CYCLE TIME: N/A
Revision: 1.001 Revision date: 01/11/2024 Page 4 of 12 Author: Colin G



https://gembadocsapp.page.link/Zku8oEeDJjYuC1ci8

Feedback?

Ocz =y GX 550 & LC 250 Rear MOLLE System Install

; = S 8§ = 4 - -
Once you have your panel attached to the brackets, repeat the same process With the upper shelf in place, drop bolts through the top into the brackets and
for the opposite side. Once both panels are in the vehicle, take the upper shelf use nuts to secure it into place. Once in place, take the provided back piece
and place it on top of the brackets and align it so it is centered. Once and the (2) upper brackets and bolt them all together and into the panel using
positioned how you'd like it, tighten down all of the hardware for the panel 1/4" buttons heads and flange nuts.

brackets to secure everything into place.

Process Ref. No: 744 Date: 26/07/2024 CYCLE TIME: N/A
Revision: 1.001 Revision date: 01/11/2024 Page 5 of 12 Author: Colin G



https://gembadocsapp.page.link/Zku8oEeDJjYuC1ci8

Feedback?

Ock =y= GX 550 & LC 250 Rear MOLLE System Install

~

Take the provided double sided 3M tape and cut to size of the last remaining  To complete the install, take the provided stainless steel logo plate and bolt it
brackets. Once cut to size peel one side of the tape off and place on the into the cut out in the molle panel with the provided smaller button heads.
bottom side of the bracket, as shown above. Peel the other side of the tape, = Shown in the orientation above.

and feed the bracket through the logo hole and shimmy down to the mounting

hole on the bracket and stick to the plastic and bolt into place.

Process Ref. No: 744 Date: 26/07/2024 CYCLE TIME: N/A

Revision: 1.001 Revision date: 01/11/2024 Page 6 of 12 Author: Colin G



https://gembadocsapp.page.link/Zku8oEeDJjYuC1ci8

GX 550 & LC 250 Rear MOLLE System Install

£ 0000000
DO000 O O

000000

~

Included Hardware (Pet Divider): 27x 1/4"-20 x 1/2" black button heads Included Parts (Pet Divider): Pet divider side sections | center section |
| 27x 1/4"-20 serr. flange nuts | 27x 1/4" black washer upper and lower mounts.

Process Ref. No: 744 Date: 26/07/2024 CYCLE TIME: N/A
Revision: 1.001 Revision date: 01/11/2024 Page 7 of 12 Author: Colin G



https://gembadocsapp.page.link/Zku8oEeDJjYuC1ci8

Feedback?

GX 550 & LC 250 Rear MOLLE System Install

'y o ; 3 b

Begin by bolting the panels together through the vertical face using th Install the same hardware through the top flange of each panel with the nuts
provided 1/4" hardware. It is best for the nuts to be on the face that will point  on the bottom side.

towards the rear of the vehicle.

Date: 26/07/2024 CYCLE TIME: N/A
Page 8 of 12 Author: Colin G

Process Ref. No: 744
Revision: 1.001 Revision date: 01/11/2024



https://gembadocsapp.page.link/Zku8oEeDJjYuC1ci8

[

Repeat the previdus step on the bottom flange. The nuts should go on the top
of the flange. Once all bolts are installed, they can be tightened.

Process Ref. No: 744
Revision: 1.001 Revision date: 01/11/2024

GX 550 & LC 250 Rear MOLLE System Install

the front panel is not installed on it.

Date: 26/07/2024
Page 9 of 12

Inside the vehicle, start from this point with both molle panels mostly installed
aside from the top, front bracket. If installing with an upper shelf, make sure

Feedback?

CYCLE TIME: N/A
Author: Colin G



https://gembadocsapp.page.link/Zku8oEeDJjYuC1ci8

Feedback?
bt | O

Ock =y= GX 550 & LC 250 Rear MOLLE System Install

; - v N | b ""\":U
Loosely install the lower mounting brackets on each side. It should be Loosely install the pet divider onto the mounting brackets using two 1/4" bolts
mounted in the slots above the front mounting hole of the lower molle panel on each side. The bracket pictured has 4 bolt holes, but the production
mount. This bracket can be flipped upside down depending on how far bracket will not.
forward or backward you want the panel to sit.
Process Ref. No: 744 Date: 26/07/2024 CYCLE TIME: N/A

Revision: 1.001 Revision date: 01/11/2024 Page 10 of 12 Author: Colin G



https://gembadocsapp.page.link/Zku8oEeDJjYuC1ci8

Feedback?

Ok =y< GX 550 & LC 250 Rear MOLLE System Install

Loosely install the upper mounting bracket. the bottom bolt into the pet divider If installing with an upper shelf, secure the center of the panel to the shelf with
will need to be the longer 1/4" bolt provided in the molle panel bolt pack. If 1/4" hardware.

installing with an upper shelf, the lower bolt will go through that as well. doing

this may require moving the panel or basket forward or backward.

Process Ref. No: 744 Date: 26/07/2024 CYCLE TIME: N/A
Revision: 1.001 Revision date: 01/11/2024 Page 11 of 12 Author: Colin G



https://gembadocsapp.page.link/Zku8oEeDJjYuC1ci8

Ocz =y GX 550 & LC 250 Rear MOLLE System Install

A4
Finally, adjust the position of everything to get it in the desired position and
then tighten up all hardware and the install is complete.

24 Thank you for supporting
American-made. We hope you
enjoy your new product!

If you have any questions or concerns
please reach out to us.

info@jcroffroad.com
info@victory4x4.com
info@squatch-proof.com
info@fatamericanmfg.com

269-353-1184

YN &
Mg—a = ROOF

AMERICAN MF

VICTORY
4%4

.G\C;R "‘:—yg 7/{% SQUATCH Py

Process Ref. No: 744 Date: 26/07/2024 CYCLE TIME: N/A
Revision: 1.001 Revision date: 01/11/2024 Page 12 of 12 Author: Colin G



https://gembadocsapp.page.link/Zku8oEeDJjYuC1ci8

